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- (2) Classify the partial differen )l 3

equation
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A taut string of length 21 is fastened at both

. ends. The mid point of the string is taken to

a height b and then released from the rest in
that position. Find the dlsplacement of the
string.
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Solve gf—max_ fort>0and0<x<l

@ begin the temperature. The initial and
boundary conditions are §(0,£) =0,t>0;

=0 at y— .
) at.x 1,t>0;

6(x,0)=x for oz x<1.
A rectangular plate with insulated surfacesis =~ -

! em. wide and so long compared to its width
that it may be considered infinite in the
length without introducing an appreciable
error. If the temperature along one short edge
y=0

X .. '
7 0< x<1' while the two long edges x=0

and x = as well as the other short edges, are

. kept at zero temperature. Show that the steady

. : . X
state- temperature “u(x, y)=100sin ? e I .

4 -  [8680]

is given by u(x,0)=100 sin
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Attempt all questions, the marks assigned to

Note :
' "each question is 1nd1cated at questlon itself.
1 . Attempt any four : . - bx4
x x - ‘
(@) Solve (1+e”)dx+e” [l—f-)ajyzo
. o Y
b) Is the djfferential—'equation'
xy die+ (2x2 +3y° -—20) dy=0 exact ? If not find
a suitable integrating factor and solve it.
' dty ; .
© Solve 4?4‘36)’:00390_' 3¢ by method of
7 variation of parameters.
@ Find the solution of (D”+4)y=sinh(2x)+7.
(e) ._Soljre ?r-'f'y = Sint;%‘-hx = cos?,
® Solve the differential equation
o xzy"—-xy'+y'=log(x)+7r.
9917] o 1- " [Contd...
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